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cos(a + ) =cosa -cos f—sina -sin f, cos(a— ) =cosa -coS S +Sina -sin
2C0sa -cos 5 =cos(a + B)+cos(a— ), cos(a— L) =cos(f— L)
1+cos2a
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[cosa +cos B]” + K cos B = cos® & +2cos a - cos B +Cos” B+ K cos 3
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+cos(a + ) +cos(a — B) + +Kcos g =
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cos(f —a)+cos f+cos(f+a) =

=2cosa -cos S+ K cos B = K[1+mcosat]-cos m,t, m :%
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m — koeficient modulacie
K [1+mcos ayt]-cos wt
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m — koeficient modulacie
K [1+mcosat]-coswst

{[1+mCOSa)lt]COSa)2t}2 = [1+mc05a]2 cos? § = [1+2m S + M2 cos> a}1+ Cos2f _
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+m7cos(2,8+2a) =

=Ay+ ALc03a+%Aic032a+%ﬁicos(2ﬂ—2a)+ Aﬂ_COS(Zﬂ—a)-F%COSZﬁ-F A&cos(2,8+/a)+%ﬁlcos(2ﬂ+2a)



